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The figures in the margin indicate full marks
for the questions

1. Choose the correct answer : 1x7=7

() Who proposed the theory of areal
differentiation?

(i) Hartshorne
() Humboldt
(iii) Ratzel
(iv) Chorley
(b} Who wrote the book, Perspective on the
Nature of Geography?
(i) W. M. Davis
(i) Ratzel
(iii) Huntington

(iv) Hartshorne
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(2) (3)

{c) The founder of Neo-determinism was (g9 Which of the following races has yellow

(i) Darwin skin colour?

(i) Friedrich Ratzel (i) Negroid

(iii) Emmanuel Kant (i) ECantasaid

(iv) Humboldt

(iii) Australoid

(d) Buddhism is an offshoot of what other
major world religion?

(i) Christianity

(iv) Mongoloid

(i) Zoroastrianism 2. Define the following terms : 2x4=8
(ifi) Islam (a) Cold desert
(iv)" Hinduism (b) Ecological balance
(e) Whif_:isgf the following are hunting (c) Negroid racial group
n;)mpy gmies (d) Possibilism
(i) Kazaks

3. Write short notes on any three of the
() Lapps following : S5x3510

iv) None of the above
i) (a) Branches of human geography

() Bushmen are the native people from

which of the following continents? (b) Eskimos

(i) North America (c) Linguistic regions in the world

(i) South America (d) Locational school in human geography
({3 sdrica (e) Transhumance

(iv) Asia
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(4)

4. Discuss the works of major contributors to
deterministic school in human geography. 10
Or .

Describe the development of human
geography with special reference to the
contributions of the French geographers. 10

5. Elucidating the interaction of man and
environment, discuss the impact of man on
environment giving suitable examples. 3+7=10

Or

Discuss about the major environmental
problems and human response to it. 10

6. Explain the concept of man-environment
relationship. Discuss the life and activities of
the people living in coastal region. 4+6=10

Or

Discuss about the characteristics and
distribution of Caucasoid group of people in

the world. 545=10
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